

## SUPPLEMENT



TO THE

# NEW ZEALAND GAZETTE

**OF** 

THURSDAY, 26 MAY 1983

Published by Authority

WELLINGTON: FRIDAY, 27 MAY 1983

Import Licence Tendering-Call for Tenders: Round 8

PURSUANT to the Import Control Regulations 1973, Amendment No. 3 (S.R. 1980/246), the Secretary of Trade and Industry, acting under delegated authority is calling tenders for import licences for the goods specified below. These goods constitute Round 8. This Round comprises the tendering of the 15 percent of basic licences tendered in Round 3 and Round 3A last year; the third allocation of licence under the Plastics Industry Development Plan; the third allocation of licence for some products under the Packing Industry Development Plan and the first allocation of licence under the Canned Fruit Industry Development Plan.

Those manufacturing companies and any company in which they have a 25 percent or more share, directly or indirectly, cannot tender in item codes in which they have already been granted an allocation of licence under the Canned Fruit Industry Development Plan.

Tenders should be addressed to the Registrar of Tenders, P.O. Box 3146, Wellington or be delivered by hand to the First Floor of the Bowen State Building, Wellington. Tenders for Round 8 should reach the Registrar no later than 5 p.m. on 20 June 1983.

1. Instructions for tenders and the general terms and conditions which apply to the submission and acceptance of tenders are set out in the Guide to Import Licence Tendering as Gazetted in Round 6.

2. Item codes marked with an asterisk require an assurance of servicing facilities.

3. Successful tenderers under the Plastics Industry Development Plan are required to return the import licence usage forms which will be posted to them. Failure to do so may lead to no further bids being accepted. 4. Tenderers should refer to the Customs Tariff and the Import Licensing Schedule for the full description of the goods tendered.

5. Tenderers are reminded to use a separate tender form for each tender number. All bids may be sent in one envelope. The envelope must be marked Import Licence Tender: Round 8.

6. Some tenders include two or more interchangeable item codes. Successful tenderers should indicate in which item code(s) they want their licence(s) prepared at the time the premium is paid.

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Allocation	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1116	03.005		Other fish	20,000	10 >	2,000	2
1117	Ex 07.005	07.01.001 07.01.011 07.01.051	(See Appendix III) Vegetables, fresh or chilled (other than capers, olives, onions, and mushrooms);	10,000	10 >	< 1,000	2
		07.01.059 07.04.002 † 07.04.005 to † 07.04.009	Dried, dehydrated or evaporated vegetables, etc. (other than herbs);				
		07.05.001 † 07.05.031	Peas, split, packed or retail sale; Other peas				
1118	08.005	•	(See Appendix III) Stone fruit, fresh; Passionfruit, fresh; Fruit provisionally preserved, etc.; Peel of melons and citrus fruit, etc.	24,000	6 >	< <b>4,000</b>	2
1119	09.005		(See Appendix III) Roasted coffee; coffee substitutes containing coffee; tea in packages of less than 2.00 kg net	4,000	4 >	< 1,000	2
1120	09.010		weight Unground spices in retail packages (other than turmeric): ground spices, however packed		17 >	< 1,000	2
1121	15.005		(including turmeric); curry powder Oleo oil, not emulsified, etc.; Wool greases (other than crude) and fatty substances;	128,000	32 >	< <b>4,000</b>	2
			Vegetables and other oils in containers of a capacity less than 4 litres, etc.				
1122	16.005		Fish preserved in airtight containers, etc., viz: herrings, pilchards and other (excluding salmon, sardines, sild, brisling, and saury)	235,000	47 >	< 5,000	3
1123	16.010		(See Appendix III) Pastes of prepared or preserved fish, crustaceans	16,000	16 >	< 1,000	2
1124	16.015		or molluscs Sausages and the like, of meat, meat offal or ani-		26	× 4,000	2
			mal blood; other prepared or preserved meat or meat offal (other than pâtes de foie gras and turkey prepared or preserved); meat extracts and meat juices				
1125	17.010		(See Appendix III) Other sugars, sugar confectionery and sugar	126,000	63	× 2,000	2
1126	18.005		preparations of Tariff Chapter 17 Cocoa paste, etc., whether or not defatted; cocoa	62,000	31	× 2,000	2
			powder, unsweetened; Chocolate and other food preparations contain				
1127	19.005		ing cocoa (except those of other Tariff Headings) Malt extract; Preparations of flour, meal, starch,	90,000	18	< 5,000	2
1128 1129	19.010 20.005		or malt extract, etc.  Macaroni, spaghetti, and similar products  Vegetables and fruit prepared or preserved by vinegar or acetic acid; etc.	64,000 94,000		× 2,000 × 2,000	3
1130 1131	20.010 20.020		Fruit preserved by freezing; etc.; Nuts whether or not roasted	156,000 18,000		× 3,000 × 2,000	2
1132	20.030		Vegetable and fruit juices not in bulk containers whether or not sweetened			× 2,000	2
1133	21.005		Extracts of coffee, etc., roasted coffee substi- tutes, etc.; Soy:		18	× 2,000	
			Saccharin and other synthetic sweetening sub- stances in tablet or in other dispensable forms		60	4.000	1
1134	21,010		Other food preparations of Tariff Chapter 21 not elsewhere included			× 4,000 × 10,000	1 2
1135	22.008		Waters, etc., lemonade, etc., and aerated waters and other non alcoholic beverages	330,000		× 5,000	3
1136 1137	22.022 22.026		Cordials and liqueurs Rum, brandy, or whisky in containers with a capacity of less than 180 litres, having a f.o.b. value of less than \$5.00 per litre	12,000		2,000	ĭ
1138 1139	22.028 24.003		Gin, geneva, schnapps, and vodka Cigars and cheroots, etc.; snuff; tobacco extracts and essences	20,000 70,000		× 2,000 × 5,000	4 2
1140	33.005		(See Appendix III) Perfumery, cosmetics, and toilet preparations including hair dyes; aqueous distillates and		40	× 5,000	2
1141	34.010		aqueous solutions of essential oils, etc.  Soap, including medicated soap (powder, flakes, granules, tablets, etc.);  Polishes and creams, for footwear, furniture or		10	× 5,000	2
1142	36.005		floors, etc.; "Chinese crackers" being the type of crackers normally sold plaited in strings; other pyrotechnic articles (other than goods of Item Code 36.000);		30	× 1,000	4
	٠.		(See Appendix III)				

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Allocation	No. o Units	f	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1143	38.005		Disinfectants; Insecticides; Fungicides; Herbicides; Growth promoting, and growth regulating preparations;	50,000	20	×	2,500	2
1144	39.122		Wallcoverings, being a plastic film and paper laminate, in rolls and suitable for the decoration of walls or ceilings	18,000	9	×	2,000	1
1145 1146	39.290 39.235		Tableware, kitchen, and household Tapes, being of a thickness not exceeding 0.5 mm and of a width not exceeding 20 cm, self-adhesive (excluding the goods specified in Item Codes 39.000, 39.120, 39.130, 39.220, 39.230, 39.240, 39.245, and 39.247		7 12	×	3,000 3,000	2 2
1147 1148 1149	39.325 40.045 40.050		All other plastic articles Hot water bottles; teats Gloves, for all purposes, of unhardened vulcan- ised rubber	130,000 20,000 12,000	26 10 6	× ×	5,000 2,000 2,000	2 1 2
1150	42.005		Saddlery and harness of any material, etc.	65,000	13	×	5,000	3
1151	42.010		(See Appendix III) Spectacle cases; Travel goods, etc., other than those specified in	68,000	17	×	4,000	2
1152	42.015		Item Code 42.000 Articles of apparel and clothing accessories, other		4	×	3,000	1
1153	42.030		than the gloves specified in Item Code 42.000 Ski, motorcycle and work gloves, mittens, and		6	×	2,500	2
1154	44.040		mitts Other articles of wood of Chapter 44	112,000	28	×	4,000	2
1155	45.005		(See Appendix III) Table mats;	20,000	10	×	2,000	2
1156	46.005		Other articles of agglomerated cork Basketwork, wickerwork, and other articles of plaiting materials, etc., except floor coverings; articles made up from goods falling within		16	×	4,000	2
1157	48.075		Tariff Heading 46.02; articles of loofah Cigarette paper, cut to size, etc., viz: other; Writing blocks, envelopes of paper, lettercards,	170,000	34	×	5,000	2
1158	48.080		etc.; Wallpaper (See Appendix III)	15,000 (rolls)	10	×	1,500 (rolls basis)	1
1159 1160	48.084 48.094		Registers, exercise books, notebooks, etc. Other articles of paper pulp, paper, paperboard, or cellulose wadding	21,000 64,000	7 16	×	3,000 4,000	2 2
1161 1162	49.009 49.010		Transfers (decalcomanias) Other printed matter of Tariff Chapter 49 (other than goods of Item Code 49.000)	10,000 190,000	10 38	×	1,000 5,000	2 4
1163	53.015		Handknitting yarns of sheep's or lambs' wool, or of other animal hair whether or not put up for retail sale	42,000	12	×	3,500	3
1164	53.025		Yarn of sheep's or lambs' wool (other than mending and tapestry yarns of Item Code 53.000 and hand knitting yarns of Item Code 53.015) put up for retail sale	ŕ	11	×	2,000	3
1165	56.145		Hand knitting yarn of man-made fibres (discontinuous or waste) whether or not put up for retail sale (other than yarns falling within Item Code 56.000)		8	×	1,500	2
1166	58.120		Carpets, carpeting, and rugs knotted; carpets, carpeting, and rugs (other than knotted), mats and matting, etc., of wool, and other kinds (other than coir mats and bath mats of terry towelling and the like)	190,000	19	×	10,000	3
1167 1168	58.125 59.105		Coir mats Sanitary towels (but not including tampons); Other articles of wadding (other than surgical applicators tipped with wadding 15 cm or more in length.	36,000 48,000	12 8	×	3,000 6,000	3 3
1169	59.106		Other articles made from yarn, twine, cordage, rope, or cables (other than textile fabrics, etc.)	10,000	5	×	2,000	1
1170 1171 1172	60.040 60.060 60.080		Men's and boys' hosiery Pantyhose (tights) Jerseys, pullovers, slipovers, twinsets, cardigans,	32,000 19,000 20,000	10 10 10	X	3,200 1,900 2,000	2 2 2
1173	60.110		bedjackets, and jumpers  Jerseys, pullovers, slipovers, twinsets, cardigans, bedjackets, and jumpers (other than infants'	93,000	10	×	9,300	2
1174	60.125		garments of Item Code 60.000) Suits and costumes (other than infants' gar-	16,000	4	×	4,000	2
1175	60.130		ments of I.C. 60.000)  Dresses (other than infants' garments of I.C.	39,000	10	×	3,900	2
1176	60.150		60.000) Other women's, girls, and infants' outer garments (other than infants' garments falling within Item Code 60.000)	24,000	10	×	2,400	2

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Allocation	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1177	61.005	•	Coats	32,000	10 >	3,200	2
1178 1179	61.010 61.015		Jackets, blazers and the like Suits	33,000 46,000	10 > 10 >		2 2 2 2
1180	61.030		Coats, jackets, blazers, and the like (other than		10 >		2
1181	61.050		knitted or crocheted) Skirts (other than knitted or crocheted)	13,000	5 >	2,600	2
1182	61.055		Blouses (other than knitted or crocheted)	17,000	10 >	1,700	2 2 4 2
1183 1184	61.098 61.105		Handkerchiefs Shawls, scarves, mufflers, mantillas, veils, and	42,000 12,000	20 > 10 >		4 2
			the like	,			
1185	62.005		Travelling rugs and blankets; Bed and table linen, toilet, and kitchen linen:	108,000	18 >	6,000	4
1186	62.030		other than plain, etc; Sanitary towels;	28,000	14 >	2,000	3
	02.000		Other made up textile articles including dress	,	14 /	2,000	
1187	68.025		patterns (other than goods of Item Code 62.000) Articles of plastering materials; articles of	10,000	10 >	1,000	2
			cement, etc., other than of Item Code 68.000:			- 1,000	_
			articles of stone and of other mineral sub- stances, etc., other than goods of Item Codes				
	69.025		68.000 and 68.035			,	
	09.023		Pot, jars, etc., and troughs, tubs, and similar receptacles, etc., of ceramic materials;		. >		
1188	69.015		Filter elements of ceramic material Setts, flags, and paving, hearth and wall tiles	135,000	27 \	5.000	1
1189	69.030		Sinks, wash-basins, bidets, etc., of ceramic		27 > 10 >		2 1
			materials (See Appendix III)				
1190	69.035		Cooking utensils and tableware of porcelain of	320,000	32 >	10,000	1
			china or other kinds of pottery (other than goods of Item Code 69.000)				
1191	69.040		Articles of a kind commonly used for toilet pur-	290,000	29 >	10,000	1
			poses; mixing bowls and pudding basins; bed- side and table lamps; articles of personal				
1192	70.025		adornment, etc.		20 \	. 10.000	•
1193	70.023		Drinking glasses Heat resistant glassware	200,000 84,000	20 > 28 >	(10,000	2 2 2 2
1194 1195	70.035		Glassware	150,000	30 >	5,000	2
	71.025		Other jewellery and goldsmiths' and silver- smiths' wares	127,500	17 >	7,500	2
1196 1197	71.030 73.065		Imitation jewellery	180,000	30 >		2 2
			Anchors and grapules and parts thereof; Fittings for ships, boats, and other vessels	55,000	11 >	5,000	2
1198	Ex 73.080	73.36.009.21D 73.36.009.51F	Cooking stoves and rangers for burning solid fuel Other stoves, space heaters for burning solid fuel	50,000	5 >	10,000	2
1199	73.084		Iron and steel articles of a kind commonly used for domestic purposes and other goods of Tariff Heading No. 73.38 except baths (Item Code 73.082), vitreous enamelled sanitary ware (other than bathroom fittings), capacity measures and vitreous enamelled holloware (Item	160,000	16 >	10,000	1
1200	74.030		Code 73.000) Cooking and heating apparatus of a kind used for domestic purposes, not electrically oper-	90,000	9 >	10,000	1
1201	76.030		ated, and parts thereof, of copper; etc.		10 -	. 10.000	1
1201	70.030		Articles of a kind commonly used for domestic purposes, sanitary ware for indoor use, and		12 )	10,000	1
1202	82.005		parts of such articles and ware; of copper Shovels; Hoes, and rakes; Cultivators; etc.	110,000	22 >	< 5,000	2
1202	02.003		Other domestic articles	110,000	22 /	3,000	_
1203	82.015		Interchangeable tools for hand tools Kitchen knives and blades therefor having blade	95,000	19 >	5,000	2
1204	83.020		sizes from 127 mm to 305 mm inclusive Statuettes and ornaments, etc., and other goods		6 >		- 1
			of Tariff Heading No. 83.06	-		•	*
1205	83.030		Lamps and lighting fittings of base metal and parts thereof of base metal (excluding switches,	120,000	12 >	< 10,000	1
1206	02.040		etc.), other than goods of Item Code 83.000		0.		
1206	83.040		Bells and gongs, non-electric of base metal, and parts thereof of base metal (other than for		8 >	1,500	1
1207#	94 600		cycles)		1	. 11.000	1
1207*	84.590		Domestic refrigerators and deep freezers, including parts thereof (other than goods of		3 >	< 11,000	· 1
1208	84.660		Item Code 84.000) Jacks	36,000	6 >	6,000	1
			(See Appendix III)				
1209 <b>*</b> 1210	84.780 85.012		Washing machines, drying machines, domestic Primary cells and primary batteries	22,000 42,000	2 > 21 >	< 11,000 < 2,000	1 3
1211*	85.015	05.04.000.445	Electric accumulators	100,000	5 >	< 20,000	3 1 1
1212* 1213*	Ex 85.018 Ex 85.018	85.06.009.11B 85.06.009.01F	Foodmixers, processors, and blenders Vacuum cleaners and polishers	150,000 45,000		< 25,000 < 15,000	1
1214* 1215*	Ex 85.018	85.06.009.11C	Exhaust and room fans	30,000	6 >	< 5,000	1
1215"	Ex 85.018	85.06.009.21L	Vented hoods	15,000	3 >	< 5,000	1

								N7 C
Tender No.	Item Code	Tariff Items	Goods: Brief Description	Allocation \$	No. o Units	f	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1216*	Ex 85.033	85.12.019.01E 85.12.019.11B 85.12.019.21K 85.12.019.31G 85.12.011.01D	Storage water heaters and immersion heaters; Electric space heating apparatus; Hair dressing appliances Electric smoothing irons; Stoves and ranges (domestic types only)	40,000 22,500 50,000 25,000 40,000	10 3 20 2 2	× × × ×	4,000 7,500 2,500 12,500 20,000	1 1 1 1 1
1217*	Ex 85.045	85.14.028.01A 85.14.028.09G	(See Appendix III) Audio-frequency electric amplifiers, other; Parts; sound amplifier sets comprising combi-	21,000	3	×	7,000	1
1218*	87.070	85.14.039.01C	nations of goods of Tariff Heading 85.14 Competition racing bicycles with a frame size not less than 22½" (571.5 mm) and wheel	30,000	6	×	5,000	2
1219*	87.073		diameter not less than 27" (685.8 mm) Bicycles and other other cycles, other than competition racing cycles of I.C. 87.070	45,000	9	×	5,000	2
1220 1221	90.005 90.015		Ophthalmic contact lenses Spectacles, pince-nez, lorgnettes, goggles, and the like, corrective, protective or other	18,000 95,000	6 19	×	3,000 5,000	1 2
1222*	Ex 92.005	92.07.002 92.07.018	Electronic organs	160,000	8	X	20,000	2
1223* 1224* 1225* 1226*	Ex 92.010 Ex 92.010 Ex 92.010 Ex 92.015	92.11.019.09A 92.11.019.51B 91.11.019.59H Ex 92.12.019.09E Ex 92.12.019.19B	Electric Record-players other than coin-operated Taperecorder—reproducers Other Record—players Audio cassette tapes Pre-recorded video cassette tapes	30,000 90,000 30,000 100,000 160,000	2 6 2 20 8	×	15,000 15,000 15,000 5,000 20,000	1 1 1 1
1227*	93.005		(See Appendix III) Underwater spear guns; Cartridges: .22 calibre blank rimfire cartridges for use with power tools; Shot 12 bore; etc.	10,000	5	×	2,000	2
1228	94.005		(See Appendix III) Chairs and other seats (other than those falling within Heading No. 94.02), etc.; Other furniture and parts thereof excluding goods of Item Code 94.016	132,000	22	×	6,000	2
1229 1230 1231	94.016 94.020 96.010		Other furniture and parts thereof wholly of metal Mattress supports; articles of bedding, etc.  Tooth, denture and nail brushes; hairbrushes;	18,000 18,000 44,000	9 9 11	× ×	2,000 2,000 4,000	2 2 2
1232	96.015		toilet brush sets; etc.  Prepared knots and tufts for broom or brush making;	28,000	14	×	2,000	3
1233 .	97.005		Brooms and brushes other kinds Wheeled toys designed to be ridden by children, etc.	10,000	5	×	2,000	2
1234	97.010		(See Appendix III) Dolls, skipping ropes; balls; hoops; carnival articles; entertainment articles, etc. (See Appendix III)	132,000	44	×	3,000	2
1235	97.015		Radio remote control apparatus for working models; other toys and working models of a kind used for recreational purposes (See Appendix III)	750,000	250	×	3,000	5
1236	97.020		Playing cards comprising any of the cards of a conventional suit; etc. (See Appendix III)	39,000	13	×	3,000	2
1237	97.025		Billiard tables;	48,000	8	×	6,000	. 2
1238	97.035		Billard cues; etc. Strung or unstrung tennis, badminton, and squash racquets or frames, the f.o.b. value of which does not exceed \$4.50 (NZ) (See Appendix III)	32,000	16	×	2,000	3
	97.045		Unstrung tennis, badminton, and squash frames containing wood, the f.o.b. value of which exceeds \$4.50 (NZ);					
1239	97.050		Appliances, apparatus, accessories, and requisites for gymnastics or athletics; etc.	230,000	23	×	10,000	1
1240	97.055		Basketballs, footballs and similar inflatable balls	28,000	14	×	2,000	2
1241	97.075		Water polo balls; etc. Fish hooks, mounted with attachments; line fishing rods except those of man-made fibres agglomerated with plastic material and fishing tackle other than reels of Item Code 97.000; fish landing nets and butterfly nets; decoy	80,000	16	×	5,000	2
1242	00.040		"bird"; lark mirrors and similar hunting or shooting requisites (See Appendix III)	<b>3</b> 6 000	. 26	~	1 000	3
1242 1243	98.040 G401		Combs, hair-slides and the like; etc. Curry powder Preparations of flour, meal, starch, or malt	26,000 27,000	26 9		1,000 3,000	3 2
1244	G406		extract, of a kind used as infant food, etc. Articles of a kind used in machinery, etc., of	170,000	17	×	10,000	1
1245	G409		unhardened vulcanised rubber, etc. Billiards metres	90,000	18	×	5,000	2
1246	G412		Skipping ropes; balls, etc. Cigarette, cigar, etc., cases, etc.	380,000	38	×	10,000	1

#### PLASTICS INDUSTRY DEVELOPMENT PLAN

			TEASTICS INDUSTR'S DEVELOT MENT TEAN				
Tender No.	Item Code	Tariff Items	Goods: Brief Description	Plastics 3rd Allocation \$	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1247	39.105	39.01.251 39.01.309 39.01.321 39.01.331 39.02.231 39.02.281 39.02.291 39.02.301 Ex 39.03.141	Cellular Plastics, flexible, in the following forms—bulk, sheet, flooring underlay excluding EVA sheeting for use in the manufacture of footwear		40 ×	2,500	5
1248	39.110 39.115	Ex 39.03.149 Ex 39.03.161 Ex 39.01.261 Ex 39.01.263 Ex 39.02.241 Ex 39.02.249 Ex 39.03.151 Ex 39.03.159	Monofil rods, sticks, and profile shapes includ- ing those worked beyond the stage of being merely surface worked		35 ×	11,000	3
		Ex 39.04.115 Ex 39.04.119 Ex 39.05.131 Ex 39.05.139 Ex 39.06.111 Ex 39.06.119					
		Ex 39.07.301.01K Ex 39.07.301.09E Ex 39.07.301.11G Ex 39.07.301.19B Ex 39.07.309.11H Ex 39.07.309.19C Ex 39.07.309.31B					
1249	39.112	Ex 39.07.309.49E 39.01.239 Ex 39.07.301.01K Ex 39.07.301.09E Ex 39.07.301.19B	Tubes and rods of man-made fibres agglomer- ated with plastic materials including those suited for the manufacture of fishing rods		17 ×	1,000	4
1250	39.120 59.145	39.07.305 Ex 39.01.389 Ex 39.01.391 Ex 39.01.399 Ex 39.01.401 Ex 39.01.409 Ex 39.01.419 Ex 39.01.421 Ex 39.01.429 Ex 39.01.439 Ex 39.02.391 Ex 39.02.401 Ex 39.02.409 Ex 39.02.411	Plates, sheets, strip, film and foil flexible other than cellular. Including textile fabrics impregnated, coated, covered, or laminated with preparations of cellulose derivatives or of other artificial plastic materials of Tariff Heading 59.08	·	155 ×	5,000	10
		Ex 39.02.419 Ex 39.02.529 Ex 39.03.191 Ex 39.04.121 Ex 39.04.129 Ex 39.05.131 Ex 39.05.139 Ex 39.06.121 Ex 39.06.129 59.08.002 59.08.012					
1251	39.125	59.08.028 Ex 39.01.371 Ex 39.01.397 Ex 39.02.381 Ex 39.02.389 Ex 39.03.191 Ex 39.04.121 Ex 39.04.129 Ex 39.05.131 Ex 39.05.139	Rigid films and foils of a thickness not exceeding 1 mm and exceeding 20 cm in width	335,000	67 ×	5,000	6
		Ex 39.06.121 Ex 39.06.129					

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Plastics 3rd Allocation	No. of Units	Licence Unit Size	No. of Units a Tenderer May Bid For
1252	39.130	Ex 39.01.419 Ex 39.01.421 Ex 39.01.429 Ex 39.01.439 Ex 39.02.501 Ex 39.02.511 Ex 39.02.519 Ex 39.02.521 Ex 39.02.529	Plates and sheets not elsewhere specified; articles of rectanglar shape worked beyond the stage of being merely surface worked	675,000	135 ×	5,000	10
		Ex 39.03.191 Ex 39.04.121 Ex 39.04.129 Ex 39.05.131 Ex 39.05.139					
		Ex 39.06.121 Ex 39.06.129 Ex 39.07.301 Ex 39.07.309					
1253	39.200	Ex 39.01.271 Ex 39.02.251	Seamless tubes, rigid	1,675,000	67 >	25,000	4
1254	39.205	Ex 39.01.291 Ex 39.01.299 Ex 39.02.271 Ex 39.02.279	Seamless tubes; flexible; other than layflat, over 25 mm outside diameter	135,000	27 >	,	4
1255	39.210	Ex 39.01.291 Ex 39.01.299 Ex 39.02.271 Ex 39.92.279	Seamless tubes; flexible; other than layflat; 25 mm in outside diameter and under	33,750	27 >	,	8
1256	39.215	39.07.479	Couplings, unions, tees, elbows, bends, and similar fittings for pipes, tubes, and hose	510,000	102 >	,	
1257	39.220	39.01.275 to 39.01.282 Ex 39.01.361 to Ex 39.01.369 39.02.261 39.02.262 Ex 39.02.268	Seamless tubes; flexible; layflat; flexible films (other than self adhesive) of a thickness not exceeding 0.25 mm and exceeding 20 cm in width	1,900,000	9 <b>5</b> ->	< 20,000	6
		Ex 39.02.269 Ex 39.02.371 Ex 39.02.372 Ex 39.02.378 Ex 39.03.189 Ex 39.04.121 Ex 39.04.129					·
		Ex 39.05.131 Ex 39.05.139 Ex 39.06.121 Ex 39.06.129					· .
1258	39.225	39.07.391 39.07.392 39.07.401 39.07.402	Bags; pouches and similar flexible containers	1,275,000		< 12,500	5
1259	39.230	39.01.351 39.02.361 39.03.185 Ex 39.04.121 Ex 39.04.129 Ex 39.05.131 Ex 39.05.139 Ex 39.06.121	Flexible film of a thickness not exceeding 0.25 mm and exceeding 20 cm in width, self adhesive. Excluding coated jumbo rolls for use in the manufacture of tapes	•	27 >	< 1,250	3
1260	39.250	Ex 39.06.129 Ex 39.02.501 Ex 39.02.511 Ex 39.02.519	Corrugated roofing	175,000	70 >	< 2,500	8
1261	39.260	39.07.419 39.07.421 39.07.431	Bottles, boxes, drums, jars, trays, tubs, and other containers of a kind commonly used for the conveyance or packaging of goods, viz: collapsible tubes and nestable containers		87	< 5,000	5
1262	39.265	39.07.429	Bottles, boxes, drums, jars, trays, tubs, and other containers of a kind commonly used for the conveyance or packaging of goods, viz: nonnestable containers not exceeding 250 ml capacity		67 >	< 2,500	8
1263	39.270	39.07.429 39.07.439	Bottles, boxes, drums, jars, trays, tubs, and other containers of a kind commonly used for the conveyance or packaging of goods, viz: nonnestable containers exceeding 250 ml capacity		40	< 20,000	3
1264	39.275	39.07.441 39.07.449	Stoppers, lids, caps, and similar closures	205,000	82	< 2,500	4
1265	39.280	39.07.469	Baths (including shower baths) and panels and fittings thereof, shower bases, wash basins, lavatory pans, bidets (including seats and cov- ers thereof) and similar sanitary wares		40	ŕ	3
1266	39.285	39.07.489	Stationery goods of plastic	435,000	87	× 5,000	4

Tender No.	Item Code	Tariff Items	Goods: Brief Description	Plastics 3rd Allocation \$	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
1267	39.290	Ex 39.07.499	Tableware, kitchen, and household utensils of	675,000	135 ×	5,000	6
1268	39.300	39.07.529	Standard, table and wall lamps, lampshades and other light fittings, of plastic	90,000	20 ×	4,500	2
1269	39.325	39.07.599.06K 39.07.599.09D Ex 39.07.599.12D Ex 39.07.599.18C 39.07.599.22A to 39.07.599.38H 39.07.599.52C 39.07.599.58B 39.07.599.72H Ex 39.07.599.98A	All other plastic articles	860,000	172 ×	5,000	6
			PACKING INDUSTRY DEVELOPMENT PLAN				
Tender No.	Item Code	Tariff Item	Goods: Brief Description	Allocation (6 Months)	No. of Units	Licence Unit Size \$	No. of Units a Tenderer May Bid For
	Ex 09.005 Ex 09.010	09.02.009 Ex 09.04.001 Ex 09.05.000 Ex 09.06.001 Ex 09.07.001 Ex 09.08.001 Ex 09.001 Ex 09.10.011 Ex 09.10.021 Ex 09.10.041.01A Ex 09.10.041.19D	Tea in packages of less than 2.00 kg net weight Unground spices in retail packs	1,000,000	25 × 20 ×		4 4
1272	20.040	20.06.078.01C 20.06.078.11L 20.06.078.31E to 20.06.078.61G	CANNING INDUSTRY DEVELOPMENT PLAN Apples, apricots, fruit salad, peaches, pears, plums	550,000	11 ×	50,000	2